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Economics _
Definition: It is a social science that In other WO
limited resources with their altemat.we uses. i ouf
make the best use of what we have 1n .order to sgh "dividua
broad divisions: Microeconomics: This dea.ls \.Nlt mexamine -
firms in a particular market. Macroeconomics: They

of aggregate economy.

imited wants and
. behavior between unlim e can
hat studies human ds, it just simply tells us ho
rds, .

eeds and wants. There are ng
| decisions taken by household or
dividual variables at the level

Z IR EREEI T o NTE 2 : . = . i ads
Definit; RO St nlimited which le
Definition: The resources are limited in this wgrld whereas w_ants ag;eetrln ey
‘o the problem of scarcity Or_}l{e basic economic problem. This pro
economy as to how to allocate the scare resources.

- Limited Resources + Unlimited Wants = Scarcity

1. Limited Nature of Resources

.. ) ' . . ~ R T <
Definition: Resources are all those materials and efforts which can be used to produce goods
and services. E.g. agriculure, farmers. machines etc. Resources are of TWO tvpes:

1. Unlimited or free resources / Free Goods:

These are unlimited in supply e.g. sunlight, sea
water, air rain etc. These resources are notm

uch of a concern for economisis.

2. Scarce resources / Economic Good: These ar

e limited in supply.
agricultural area, oil, wheat etc. '

E.g. machines, building,
2. Opportunity Cost

problem mentioned above. Opportunity costs is de
In simpler terinﬁs, the sacrifice by an individual or
product to the other is known as the opportunity ¢
this is made by all economic decision makers: Co
Example: Bt | '

1. Consumer - An individual has $1000 and he/
If the individual chooses the laptop the smart phone becomes the oppo
2. Businesses — A business has $ 1million. It can either spend it
country or invest in research and development. If the businesse

expansion, the research and development becomes the opportunity cost.
3. Government — A government has two options eit

her to build roads or building schoolg in
the country. If the government chooses to build roads, developing schools would become the
opportunity cost.

¢ forgone.
organization while giving preference to one

ost of a particular decision Remember that
nsumers, businesses and government.

she can either buy a laptop or a Smart phone

rtunity cost.
On €Xpansion to a pew
s choose to invest jt in
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3. The THREE bagje cconomic questiong

u‘\ll lhcl three cConomic agents (I’]iuﬂ.duﬂ&_ﬂiﬂn&’mdﬁn iry to answer the
following three basic cconomic questions: ‘

L)uestlon - Description . - = -, -~ ..~ .. ]
|- What to Produce? mt goods and services should bwroduc d and howh’fo}"d !
o ' the resources be allocatf{d. Brivalr(pubole Wﬁj il - !
=+ How to Produce? How should the economic resources be used to produce the )

I

goods and services

\ -
3. For whom to produce? How should the goods be allocated among the POPUli“O"?
- Understanding the target population. /1 &

4. The margin and decision making at the margin -
Definition | Margin: This means that a small change in one economics variable »%fill ]—ead to
future changes in other variables. Both consumers and firms take their decision keeping
reference to small changes in mind. Example: A firm will check,whetbgf_,t@add"[‘.o_”al
revenue it will receive from selling an extra unit will compensate for the additional cost. A

consumer will think the additional benefit of consumning a can of cola for the price paid for it.

5. The time dimensions

Time Dimension .| Description 51575 0x.: e R e A S e s
1. Short Run This is a time period where firm is able to change some and not all
factor inputs. Example: Labor might be variable but capital and land
might be fixed.

This is a time period a from can change all factors of production. This
makes them more flexible. Example: Hire more labor, more capital etc.
This is when the entire industry/market may be able to adjust. This is
because not only that all factors of production are variable but also key
inputs like technology, government regiilation and social norms are

2. Long Run '[
. |

3. Very Long Run

| ’ variable.

2. FACTORS OF PRODUCTION 723
Definition: These elements are required to carry out
known as the factors of production. These include:
[:Factor -5 [ Description R :
It represents all the natural resources whic

/ l. Land /

| activity, e.g. plains, seas, mines etc.

e .

/ 2. Labor The term refers to any kind of physical or mental human effort. E g ]
carpenters. doctors, etc. LakborZho. gf hrs « a hoy/"

3. Capital The term refers to the manufactured resources required in the production
process. E.g. machinery, tools, equipment, vehicles etc.

[4. Enterprise | Also known as entrepreneurship. This is the skil] and n'sk-takin:g ability of the
person who brings the other three resources or factors of production together
to produce a good or service. They are innovate to promote efficiency For
example, the owner of a business.

Note: These factors of production tend to vary from €conomy to cconomy. Agricultural

€conomies tend to reply more on the primary output whereas industrialized economies tend to

eply on the secondary output.

\
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Return on Factor of prod‘l’lft:lio_l}m -
“Factor of Production |17
Rent

1. Land s '
| 2. Labor Wages and Salaries
| 3. Capital | Interest on savings
| 4. Enterprise | Dividends on shares of a compan Sy A

' o will vary in quan
Note: Based on the type of the business these factors of production Wi ry

. i as
business-like car manufacturing that employees a greater proportion of kit ey
compared to labor is known as capital intensive, on the oth.er hand a : Lalified
that has a greater proportion of labor as compared to machinery that relies on g
lawyers is called labor intensive.

business like a law firm

Positive Statements: This is a statement the 1W:}lflldence 0

1. A fall in supply of petrol will lead to an increase in its price...
2. An increase in tourist numbers in the Maldives will create more employment...
3. An increase in taxation on cars will result in fewer cars being sold...

\
Definition | Normative Statements: This is a statement that have an epinion & vaiue

judgement. This tells what should happen. The above statemcents can berome nonnainve
statements, for example, by adding:

1. ... and this should be beneficial for the environment.

2. ... and therefors the government of the Republic of Maldives should < 2veryifing 1t can to
help promote this industry. ;

3. ... and this should reduce traffic congestion.

iduals, firms and economies
. concentrate on producing those goods and services where they have an advantage over
“others. Speciaiization refers to performing a specific task of the whole

production by an
individual worker, or producing one of few products rather than a numberof goods and
services by a firm, region, or countfy. '

Ly Description Sk

1. Individual Individuals tend to master a particular skill in life. This allows workers to
master _t'h'éir skill and increase productivity.

2. Firm Businesses around the globe master in a particular industry. Shell in Oil,
[KEA in funiture, McDonald’s in burgers and fast food etc. ™ W

3. Region Regions in the world specialize in the production of a particular éood or
service. This is usually‘because of geographic or Social factors. Example:
Sificon Valley for IT and communication technology, Paris and Milan for
fashion industry. N

4. Country Counties specialize in the production of certain produgts. Example:

Germany in consumer electronic and luxury cars, Pakistan in production of
L’/ rice and mangos. ’ : - 0
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Definition |D|\
=2 LYIVISI0N of Labar Th.: . -
whole product; abor: This js Known as specialization a1 ividual level
0N process is divideq i pecialization at ind . When the
n
.

by a single worke to several in

dividual tasks and each task is carried out

S Disadvantages v v -
I. Overspecialization: This is a situation
higher GDp., —— 0 Aresults | where the country specializes in a particular
A W product and this makes its economy

2. Labor Productivi vulnerable. Example: Economy’s like Iran
productive <; uctivity: Labor becomes more that are highly dependent on oil export, a
skills""'l'\’/“i‘s'mce dUC_}OfT_CRLllLlon.QQg_bs their | trade embargo by the west on oil results in
: are ?@?“ﬂ-j‘hw leads to greater output | a major economic collapse.

in lesser time.

2. High labor turnover: Since the workers
3. Increase productive capacity: Specialization | are specialist they will continuously be
he?ps to shift the PPC outwards. However, the | searching for better paid jobs. This result in
shift is usually pivotal because the product the | companies have to rehire which increase

county is specializing in will have a greater the cost.
| Increase in output. \ & i d
| L o ey
1 3. Low Labor mobility: Since the worker is" -
‘ 4. Economies of Scale: Since production only skilled in a particular field it would be /
Increases therefore firms enjoy larger hard for him to understand other function |
economies of scale. These cost cuts can be of the business. This makes the labor force ’If
passed on to consumers in the form of lower inflexible. )

prices. Hence reducing inflation.

_ : 4. Lack of variety of consumers:

5. Improved Competitiveness: This gives the Consumers have less choice since the
firm a competitive advantage in the company Specializes in only one type of
international market. A competitive advantage | product. This reduces international
results in higher exports, appreciation in copetitivengss. 3#:7490‘””"’/ P’-
currency, higher AD, and improved standard of o cle oF VTl

living.

st

_\_‘(\—W"“ Y S-S

¢

5. Cost: The cost to employ specialist

waorkers is high. This can lead to expensive
products being developed by the firm,

B ultimately leading reducing profits.

’ g,d mondo ‘oo
[)C%D‘(fgéfw l’)gw“ef/ Z_g/ozgm

)

AATIK TASNEEM | AS 7 LEVEL: ECONOMICS (9708) | 03041 172845 t




Advantages and
gt i o Adyantages: L
1. Workers can undertake tasks which match
their natural abilities.

2. Can become more expert through practice

3. Waste less time through reduced

movement =

fl. Make greater use of machinery which
itself 1s more effective by removing

redundant tasks from labor and helps them to
focus on value added tasks.

Disadvantages of Specialization/Div ;

AS / MICRO — |NOTES| — CHAPTER 1

ision of Labor [lndividual}

by ks “Disadvantages’ g
lA. ngh labor turnover: Since the workershgr:e
specialist they will continuousl}'/ be searc }esg
for better paid jobs. This result in compan
have to rehire which increase the cost.

2. Overspecialization: Not able to dp any
other tasks. Less labor moblllty."l"hxs can
lead to shut down if one person 1S absent.

3. Create problems which may
productivity or limit its growth

reduce
e.g. boredom.

/

Specialization, Opportunity Cost and Production Decisions
The concept of specialization and opportunity can cost us to make better production decision.

It states that an individual/ﬁrm/counywm\egproduction of a product
in which they hW, even if one is better off with both the products.
This will increase the overall production in the economy. We will use a numerical example to
explain this concept: : '

Pots Bracelets i vots ‘ Bracelets
12 0 B . t [ 0 j
9 S . l 12 |
6 I . I 24 |
3 S 3 | 30 i
0 12 . e 0 \ 36 B

Bracelets = 6/12 = 0.5 pots

i Bracelets =3/3 =1 pot
Pots = 12/6 = 2 bracelets

Pots =3/3 =1 bracelets

Hence Ayesha should produce only bracelets and Ali should produce only pots.

_——  CVEL: ECONOMICS (9708) | 03041122845
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Agncultural Goods

M1 M2 B
Manufactured Goods

The figure above shows that if producers want to
C2 the amount of furniture has to be decreased fr
producing an extra C2-C1 cars is F2-F1.

increase the production of cars from C1 to
om F1to F2. The opportunity cost of

A — All resources dedicated to the production of Agri
B — All resources dedicated 10 the production of Manufactured Goods

C — Al agricultural goods produced alongside M} manutactured goods

D — A2 agricultural goods produced alongside M2 manufactured goods cars

E — This point is beyond the PPC and is unattainable since it lies outside of the productive
capacity of the economy.

F — This point is within the PPC. The
can be increased without any opportu

cuitural Goods

production of both agricultural ang manufactured goods
nity cost as there are idle resources in the economy.

Note: Movement from point F to any point on the PPC shows short-term econo

mic growth
and the shift of the PPC represents long term economic growth.

AATIK TASNEEM [ AS - LEVEL: ECONOMICS (9708) 1 03041122845 w




2:SHIFTS IN. PCC e o s
A PPC curve can shift

AS ' MICRO — [NOTES| — CHAPTER 1

1) Inward or Outward: Inward shows a decrease and outward shows an increase

n) Parallel or Pivotal: Depends

‘44."- ..)9"*'.’;'--. St \.\J.‘outward Shlft G ‘_'r t\ ‘;“‘**‘0‘-

it 2w Inward Shift .. . . -

An ﬂ\%rd shift shows an increase in
{oductlvny and output.

Agrlcultural Goods

\
. L Manufactured Goods

i ift ein
An mwz.m_i shift shows a dEEe'gs
productivity and output.
ceoassdilin iy’ o o

Agricultural Goods

Manufactured Goods J

- Parallel Shift =

e « ——

--Pivotal Shift. — -

Parallel shift of PPC occurs when mc?ease 1n

quantity and quality of resources in equally
suitable/disastrous for both goods.

Agricultural products
g
/ b
p el
°
— £
1

%
S
-

\.\
\
|

o 500 700
Manutactured products

(@j

Plvotal :hlﬁ occurs in PPC when change in
quantity and quality of resources affects only
one good or affects one good more than the
other. Example: A genetic breakthrough in
producuve of wheat. rice or cotton will

increase only the agricultural capacity of a .
couniry.

5 . !

A .

‘ IR .\' .

\ . '

: \\ o |
o

(B Manutactured projucts

3°SOURCES.OF SHIFT IN PPC.::

There are THREE major sources of shift in PPC ofa country:
1. The quantity of factors of production in an economy change
2. The quality/productivity of factors of production change

3. Reallocation of Resources

AATIK TASNEEM | AS / LEVEL: ECONOMICS (9708) | 03041122845
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The quantity

1.
‘f
Land ma

%ﬁon in an economy change. ... .;" b S E e
|1 Discovery of o

1. Land

Increase because of: Land may decrease because of:
|, metal, minerals, reserves | 1. Depletion of non-renewable natural
resources e.g. oil, gas etc.

2. Natural disasters like earthquakes, floods
etc.
L, Outward shift of PPC 7

elc.

: 2. Barren land imgated and made productive

Inward shift of PPC

SR G PP IR

Lab&m‘w Land may decrease because of:
ease in working population 1. Decrease in working population_

2. More immigration than emigration 2. More emigration than Immigration
3. More women in jobs - 3. Less women in jobs

4. High retirement age 4. Poor health facilities

1. Incr

L Outward shift of PPC Inward shift of PPC
I g e W o P

: Labor may increase because of- Land may decrease because of:
| 1. Gross lnvestgxent* > Depreciation* 1. Gross Investment < Depreciation

L am Od‘mM“ (,oa:‘l”oj :

L ot Ourward shift of PPC " Inward shift of PPC

*Gross Investment: Total spending on capital goods and services in a given time
*Depreciation: Loss in the value of an asset due o we

ar and tear, obsolesce or just passing
time. ' '

2. The quality/productivityof factors of production ching P R
Definition | Productivity: It is defined as output per unit of inpnt. It measures how efficiently
factors of production are used. Several factors inilie 1

Factor.:. = ::m i veiai JDEs'ci‘iliﬁpﬁ?F

l. Technolog)_/ Makes capital more n—o-d:nv

¢ and increases productive capacity.

Technology M Preductivity A PPC outward shift
Technology \V Productivity ¥ PPC inward shift
It helps to improve labor and hence they can use capital more |
efficiently and come up with better ideas and products.

2. Education and
Training of Labor force

Education Productivity N PPC outward shift

L ' Education ¥ Productivity & ppC inward shift -
3. Research and This involves better techniques of extractions, improved methods
Technology of farming etc.

R&D Productivity 4 PpC outward shift

R&D Vv Productivity ¥ PPC inward shift

AATIK TASNEEM | AS / LEVEL: ECONOMICS (9708) | 03041 127845 ]
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3. Reallocation of Resources

- s e e g o of one
Definition: Reallocation means switching factors of‘productlon from ‘pro'du
roduct. There are TWO types of rea ocation:

AS/MICRO — INOTES| — CHAPTER 1

e

_product to another type of p

mer Goods* to Capital Goods*

|_.Primary to manufacturing/service sector |- Comsu

Since manufacturing and service sector is
more productive than the primary sector,
more services and manufacturing the
economy produces higher the productivity.

PPC outward shift
Manufacturing/Service > Primary

PPC inward shift
Manufacturing/Service < Pnmary

Since capital goods have higher added value
and can contribute to a larger SUCCess ofa
country in the long run hence more the
capital'goods higher the productiv‘ity.

PPC outward shift
Capital Goods > Consumer Goods

PPC inward shift
Capital Goods < Consumer Goods

E—

*Capital Goods: Goods that increase the future capacity of an economy. Example:
Machinery, factory buildings. The expenditure on these goods in known as investment.

*Consumer Goods: These goods are for present use. Examples: Apple. car. TVs etc. The
O -

expenditure on these goods in knowns as consumption.

Note: If an economy chooses to produce more capital goods and less consumer goods in the
present it will enhances the productive capacitym
production of both goods in the future. The decision to produce more capital goods today
mean fewer consumer goods today. The choice is of having a higher standard of living today

vs. economic prosperity in the future.

“=zisIncreasing Opportunity Co

Increasing opportunity costs arise as for cac
additional unit of computers that is produced,
the opportunity cost, consisting of microwave
ovens sacrificed, gets larger and larger as
computer production increases. This happens
because of specialization of factors of
production, which makes them not equally
suitable for the production of different goods
and services. As production switches from
microwave ovens to more computers, 1t is
necessary to give up increasingly more
microwave ovens for each extra unit of
computers produced, because factors of
production suited to microwave oven
production will be less suited to computer
production.

4 INCREASING AND CONSTANT &7

PORTUNITY COSTSPPC

“Constant Opportunity Coét:,; ]

t {oustant opportunity costs arise when the \

!

avs of production are equally well suited
to the production of both goods. such as in
the case of basketballs and volleyballs, which
are very similar to each other, therefore
needing similarly specialized factors of
production to produce them. As we can see

in Figure (b), for each additional unit of
volleyballs produced, the opportunity cost, or
sacrifice of basketballs, does not change.

~
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Increasing opportunity costy

-
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Constant opportunity costs
¢
3
0 v
g =
: 2
5 <
\é 3
L__
L e volleyballs
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TOPIC 3: ECONOMIC SYSTEMS |
1L.LEVELS OF BUSINESS ACTIVITY..... ... .

v . g

A : ' - material from
L. Primary: This sector includes the extractive industries that acquire raw m
naturally available resources, e.g. agriculture, mining etc.

, P : : 1al into
2. Secondary: It comprises of the manufacturing industries that convert raw material in
semi-finished or finished goods. E.g. Textile industry.

3. Tertiary: This represents all kinds of services such as banking. retailing, etc.

Note: The significance of these three sectors varies from country to country depending on
factors such as availability of resources, size of the population etc. These sectors are usually
compared on the bases of the number of people employed or the proportion each sector has in

the total national output. The developing countries such as Pakistan the primary sector is the
most dominant one as most of th

€ population lives in the rural areas and have less demand for
secondary and tertiary goods. In developed countries like the US and UK. the secondary and
tertiary sectors are likely to employ many more workers and these sectors are a major part of
their economy. -

2:ECONOMICS SYSTEMS: .. .- .- et :
Definition: An economic system describes the way in which an economy is organized and
run, including alternative views of how resources are best allocated. There are three main
types of economie systems:

1. Market Economy

2. Planned Econemy

3. Mixed Economy

1. Market Economy

Definition: A market economy is a system where ownership of resources in the hand of
private individuals who allocate them as they see {it «

14 government intervention is
minimized. The forces of demand supply (price mechanism)

are used 1o allocate resources
and the private sector decision the answer to the three fundamenal economic questions.
Features include:

1. No government interference

2. Resources are allocated on the basis of price. Higher the price more the supply, lower the

price more the demand. Resources are sold to individuals who have the willingness and
ability to pay.

3. Production of profitable products 1s maximized whereas production of unprofitable
products is stopped. .

4. There is competition in the market which leads to greater choice for the consumers.

JEL: ECONOMICS (9708) | 03041122845
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. lent and pay
; attention to what consumers want. Due to

| presence of competition companies try to
| create unique selling points and tend to
 develop bener technology and try 1o create
| 'nnovative products 1o attract and satisfy

their co sumers.&za A Lo coMU#
Gy, Lokl o 18 € cion)

2. They also hay

I

€ freedom of choice since
the government Intervention is minimized.
Individuals cap choose to buy whatever they

like. This produces variety of goods and
services.

3. Market economies are driven by the profit
motive which motivates business and
individuals to work hard. These incentives
help boost the economic growth and raise the
i standard of living.
i 4 .
! 4. Least interference of govt. eliminates
| bureaucratic hurdles in economic activities.
‘ This improves the ability of a business to

,‘--M

AS MICKOG — INOTES| — CHAPIEKR
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Disadvantages

I Market economies create negative
externalities like noise, air and water
pollution etc. in an attempt to reduce their
private costs under their profit maximization
motive.

2. Market economy lacks any redistributive
mechanism of income. The rich tend to get
richer and the poor tend to get poorer.

3. Private firms under profit maximization
will produce demerit goods. Demerit goods
are bad of society like Alcohol, cigarettes etc.

4. Due to absence of government control,
public goods such as street lighting, roads,
healthcare might not be provided.‘

*. Due to competition firms tend to waste

» aluable resources on activities like excessive
vdvertising to gain competitive advantage.
~his also leads to consumer exploitation.

i response to changes in consumer preferences.

2. Planned Economy

Definition: A planned economy is where all the resources are
They use a rationing mechanism of central plannimg and

is collective social welfare. Features include:

allocated by the government.
quotas. The aim in planned economy

I. Basic economic questions answered by the governen:,
2. Wage differentials are minimal due to the aim A quality and ¢liminating social gap.
3. There is minimal engagement in international wrade ag the government prefers to be self-

sufficient.

o et Advantages i -

“Disadvantage B

I. There is aflarge potential for economies of scale by
operating large state monopolies like water supply,

public transport, electricity. Economics of scale isa

situation where by increasing the scale of production-

| average cost per unit decreases.

I 2. Due to absence of competition wastage can be
reduced. Since costs of advertisement will be
nonexistent and state will only provide goods that are
necessary.

3. The gap between rich and poor is minimized. Since
the government provides basic needs to be met for
cveryone in the society. Example: education and

" healfh care for all.

4 The government keep on externalities like pollenon |

and reduce the production of demenit goods like
alcohol. cigarettes erc.

, cntreprencurial nisks and lack Innovation.

1. Due to absence of price mechanism the government
1s unable to guess exact quantities demands which can
iead to surplus and shortages in the economy.

2. There is a lack of variety of goods which reduces
the standard of living. Since the market lacks
competition and the government is more focused on
being self-sufficient which leads to production of
necessities not variety of goods.

3. The economy is less Tesponsive 1o consumer needs.

|
[
i
Since bureaucrats take the decision they don'1 take l
i

/
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3. Mixed Economy .
Definition: A mixed economy is a combination of bot

degree of private and public involvement is detem’line(_i by th.e 80"emmem‘bl_ ector. The
like health, education. street lighting. public transport S provided by the public '

private sector provides goods and services demanded by the consum

entertainment, tourism etc. This is a good system since it strikes a balance

ers like

gs] — CHAPTER ]

h market and planned economy. The

Essential services

cars,

between both the

worlds, however it should always be noted that even in a mixed economy consumer

sometimes have to pay high prices if there are private monopolies an
to inefficiency.

Ly

d public sector is prone

S

An economy has to face several issues when it plans to move

from a planned to being a mixed or

market economy. In this both firms and consumers need to accept there is more freedom to make

decisions and let the market forces allocate resources. :
— How can it change: The task of reforming require the govt. to establish

| Price and Trade Liberalization: In planned govt. controls everything. but w

reforms

in THREE ways:

hen price is free demand

and supply start to function which will create efficiency. Along with this competition needs 10 be 7
encouraged to liberalize trade. State monopolies, tarifls, quotas and non-tanff barriers need to be

removed and the currency to trade in the foreign market.

2. Privatization: Firms should be given a profit motive along with increasing quality.
through better production techniques, training for managers, better machines etc. However. the \

implementation might take time.

/
/

This can be do{le

\

3. Financial Sector: Establishment.of central bank and creating cornmercial banking institutes and

other financial markets. Attracting foreign direct investments. This al
and management techniques.

— Why is it difficult?
|. Lengthy process: It is a lengthy process since f

s0 allows transfer of technology

imns need tinie to adjust their production processes.

s pri % 7. Inflation; It might cause massive inflation as in pianncd whea shortages existed consumers had

ect Lz,y cash but they were unable to buy the products. However, in free inarket now excess cash can be used
cf ; lo import goods or offer more to the firm to acquire that product. This causes massive increase in

MW prices.

3. Unemployment: Imports might increase due to trade liberalization and this might cause massive

b inflow of imports shutting down local firms and causing unemployment on a large scale. This leads to
(Z,X//V”[’(’ reduction in govt. tax revenue and govt. needs to spend morg on transport a d housing causing budget

deficits. F{o0 @ ( 0 socrad  cealy suve

(e PO oh /om./omafmz;r,-, of dy}e@r;;z

i Positive Impacts . - C - .- “.. . Negative Impacts
1. Stronger financial system 1. Job losses .
2. Attractive business environment 2. Need to make social reforms
3. More seclors in the economy 3. Establish good tax system .
4. Variety of goods 4. Consumer exploitation might go up
- , ; roecenomic juler o
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TOPIC 1: BASIC ECONOMIC IDEAS

e s = Variant-1 }
(M/J 2010, V1), Q2, a fOth LLY TN i'(ﬁ gL
(a) Explain how division of labour,can affect Iab,,ou'r productivity. [8]

Definitions: Division of Labor & Labor Productivity: Productivity is output per worker. Specialization involves
sub-dividing working processes and concentration on one aspect to raise efficiency.

Advantages Disadvantages |

1. Workers can undertake tasks which match their 1. High labor turnover: Since the workers are

natural abilities. specialist they will continuously be searching for

2. Can become more expert through practice better paid jobs. This result in companies have to

3. Waste less time through reduced movement rehire which increase the cost.

4. Make greater use of machinery which itself is 2. Overspecialization: Not able to do any other tasks.

more effective by removing redundant tasks from Less labor mobility. This can lead to shut down if

labor and helps them to focus on value added tasks. onc person is abscnt.
3. Create problems which may reduce productivity or
limit its growth e.g. boredom.

(M/J 2015, V1), Q3,a
(a) Explain how the contribution of each factor of production differs in an agricultural
economy from that in an industrialized economy [8]

Definitions: —’
1. Factors of Production — These are resources used by Lhe cconomy to produce goods and services. Land
[Natural Resources, oil. raw materials, earnings are called rent] Labor [Physical and mental Efforts, engineer,
managers, earning are called wages], Capital [Man-made resources like machinery, eamings are called interest]
and Enterprise [skill to combine factors of production, rlsk taker and innovator, eamnings are called profits]
[Explain all of them with examples]. fae ST

2. Agricultural economy — Optimizing the productlon and dxstnbutlon of food [Reliance on Primary Sector]

3. Industrialized economy — Combining faclors of productlon to producc material goods [Reliance on
Secondary Sector] e

1. Land: In agricultural economies land is more focused on primary sector output like wheat, cotton sugarcane
and the this would be the most significant factor of production. Agricultural economies tend to use this FOP the
most and usually n.nd to specnallze in this seclor and export the smplus In mdustnallzcd cconomncs have less
importance to this sector. and usually tend to import these: I
2. Labor: In agricultural economies most of the labor is manual and workmg in farms Most ofthe labor is
unskilled and production methods are more labor intensive. In industrialized economies labar is more skilled
and less labor is used since few skilled labor working at high wages end up producing the same or more amount
of output.
3. Capital: In agricultural economics most of the capital would be invested in farming equipment like tractors,
fertilizers however these economies rely less on capital. In industrialized economies capital would be the
dominant FOP and most of the production would be dore using automated plants and converting the raw
mau,rmls to semi-finished and finished production.

4. Enterprise: In agrlcullural cconomies enterprise comprises of small or large businesses owners who mostly
have businesses in the agricultural industries. These can involve landlords who are mostly retailing raw
materials. In industrialized economies enterprise usually start businesses like manufacturing cars and there is

diversity in the production of goods.
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(a) Outline the functions of the factor ente

AS / Economics (9708) - MICRO — CHAPTER 1

'76 in a modern economy, and explain how

enterprise responds to a rise in the gg mantl for a good. [8]
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Mark for (a) =

o The candidale starls by

stating that the
functions of enterprise

include organising and
risk 1aking.

+ 9 The candidale gives a

useful outline of the
functions of enterpnse
in a modern economy
here, although more
could have been
wrilten on the risk-
taking function. Three
marks are awarded for
knowledge and
understanding.

The candidate
recognises lhat a rise
in the demand for a
good would
consequenlly lead to a
rise in price.

The candidale has
produced a good
answer in terms of how
enlerpnse responds lo
an increase in price, so
gains all four marks for
application.
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. Varfant 3
(M 2010, V3), Q2,4

(a) With the help of examples, explain why different economic decision makers face the
problem of scarcity. [8]

Definitions:

I. Scarcity — Results from limited resources and unlimited wants, This means choice is necessary and an
opporlunity cost occurs,

2, Opportunity cost — The next best alternative foregone

3. Economic Decision makers — These are individuals who answer the three basic economic questions. What to
produce, how to produce and for whom to produce.

People arc foreed to make choices due to the presence of the basic cconomic problem mentioned above.
Opportunity costs is defined as the next best alternative forgone, In simpler terms, the sacrifice by an individual
or organization while giving preference to one product to the other is known as the opportunity cost of a
particular decision, Remember that this is made by all cconomic decision makers: Consumers. businesses znd
government, Examples:

1. Consumer = An individual has $1000 and he/she can either buy a laptop or a smart phone. If the individual
chooses the laptop the smart phone becomes the opportunity cost,

2. Businesses — A business has $1million, It can cither spend it on expansion to a new country or invest in

research and development, If the businesses choose Lo invest it in cxpansion, the research and development
becomes the opportunity cost,

3. Government — A government has two options cither to build roads or building schools in the country. If the
government chooses to build roads, developing schools would become the opportunity cost.
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AS / Economics (9708) = MICRO-CH

| TOPIC 2: PRODUCTION POSSIBILITY CURVE
(M/J 2010, V2), Q2,2
(a) Explain how a country’s production possibility cu ctors of

production. [8]
Definitions

rve depends upon jts fa

soods and aervices which @
yen state 0

1. PPC — It is a curve that shows all the maximum possibl¢ combinations of 1#/0 £ !
country can produce using all of available resources with cfficient technique of production 4t 21
technology. The ncgative slope represents the opportunity cost. Notc: Faplain cvery point the diagram-
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Production — These arerc
[Natural Resources, oil, raw materials, car
managers, earning arc called wages]. Capital [Man-m
and Enterprise [skill to combine factors of production,
[Explain all of them with examples].

- fuctors of production can affect the PPC. An increase in the
shift it inwards. The curve can alzo shift pivotal if the

_abor [Physical :
¢ machinery, carnings are called interest]
Arnings 4rc called profits)

2. Factors of
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(O/N 2011, V2), Q2,2

i ic ideas.
(a) Show how production possibility curves may be used to explain any two economi

[8] [Explain one microeconomic idea and one macroeconomic idea]
Definitions

1. Micro — This part of economics study problems related to individuals, firms and govt.
2. Macro — This part of economics study problems related to the whole economy.

3. PPC — Combination of 2 goods, given resources at a given state of technology. [With the diagram and its
explanation]

There are TWO ideas that can be represented Scarcity [Micro] and Economic Growth [Macro]

L. Scarcity: Results from limited resources and unlimited wants. This means choice is necessary and an
opportunity cost occurs, Opportunity cost is the next best alternative foregone. This is measured through the
MRT [Marginal Rate of Transfo

rmation]. PPC shows max resources. Movement from C to D which highlights
Opp. Cost,

Agricultural Goods

S S T U
M1 MY a
. . . . Mamsdactured Goods
2. Economic Growth: This is the increase in GDP of the econ
long-run.

omy. First diagram Short-run second diagram

)
£ o

B AN N R Y

X FPC, PPC, PPC, X

(M/J 2012, V2),Q2, b .. .

(b) Discuss whether an economy’s production possibility curve is iﬁloré'l'ikélj!;fcf move
inward or outward over time. [12] [Similar to (M/J2010,V2), Q2. a~  “17
Definitions

1. PPC — 1t is a curve that shows all the maximum possible combinations of two goods and services which a
country can produce using all of available resources with efficient technique of production at given state of
technology. The negative slope represents the opportunity cost. Note: Explain every point the diagram.

é: al -\'
% M e ..\\
% e LI &
v M1 FT\n "
Manufactured Goods
2. Factors of Production —

These are resources used by the economy to produce goods and services. Land
[Natural Resources, oil, raw materials, earnings are called rent], Labor [Physical and mental Efforts, engincer,
managers, earning are called wages], Capital [Man-made resources like machinery, earings are called interest)
and Enterprise [skill to combine factors of production, risk taker and innovator, earnings are called profits]
[Explain all of them with examples].

The increase or decrease in Quantity and Quality of factors of production can affect the PPC. An increase in the

FOPs will shift the curve outside and decrease will shift it inwards. The curve can also shift pivotal if the
increase only impacts one good.
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LAt
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= Labor: Emigration (Q s [lmvards] / Discovery of oil [Ourwards]

(Qual) [Outward 5] uant) Peor Health Facility (Qual) [Inwards] 7/ More Population (Quant) Education
<> Capital: Less inv o -
[OUt\\?ards] €3S Investment (Quant) Less R&D (Qual) [Inwards] / More investment (Quant) Better Tech (Qual)
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EVAL_: The PPC can shift outwards or inwards but the reasons given 2n inward shift has a lower probability of
OC'Cumng for most countries. Countries that are developing or have utilized their resources are more likely to
shift outwards. However. countries that face hostile borders might be prevented to do so. To conclude the shift
d.epends on the policy of the govt, consumers and how the resources are managed. Developed countriss have a
higher chance of an outward shift becausz they aim for full employment and growth whereas developing
countries due to mismanagement might have a movement from on the PPC to inside the PPC due to
mismanagement of resources. :

(O/N2012,V2),Q2,a

(a) Explain with the help of a production possibility diagram, how the opportunity cost of
producing different combinations of goods can be measured. [3] [Similar to scarcity]
Definitions ==

1. PPC — It is a curve that shows all the maximum possible combinations of two goods and services which a
country can produce using zll of available resources with efficient technique of production at given state of
technology. Note: Explain every point the diagram.* —25

2. Opportunity Cost — Next best alternative foregone. The negative slope represents the opportunity cost which
is measured by MRT [Marginal Rate of Transformation]. This can be measured by drawing tangents to the

- . =3 . = AY
curve and taking its ggadleqt:»a

5 =5 == =Y ;. Constant cpportunity costs
3 : 3
R . T
g ' =
ER 2 B = 3
F o
@ M1 M2 :
Manutactured Goods volleyballs
The outward bending curve shows the tradeoff and that resources are not homogenous. As more of one good
would be produced the resources would become less efficient. However some goods have constant opp. cost
these are represented by a straight line PPC.
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Variant 1

OWI2012,V1),Q2,a - - . | : ;
@) E\plai; how the ’loss of confidence in money will affect an economy’s production

_possibility curve, 8] ) _ =
Definition

. Q f
L. .\{Dnevﬁ:\m‘dll'nz =t is generally aceepizble as a means of payment and has four functions (icdjum-g
Ew:Cha-:g:, Mezsmre of Vzlpe §

tore e::\':h:t. Standard of Deferred Payment].

2. PPC— Shows the maXimum possih inations of outputs when an economy operates at full
employment.

At g uial ety
/

\“‘ﬁf"'
\H"Illlful'll ooty

aceeptable and its functions will not o
be lower potential production so
2Usean inward shift the curve,

The loss of confidencs wi[] PTEVERl money beine
Will resriy Specialization 20 oulpu:

perate effectively. This
fixing the curve nearer to

-1 TUL The result wil
the origin than ene wig Gz usz of menzy. This will

z
=

=
<

4T

(O/N2017, v7), Q3,2
(a) Show the difference betwes

N2 movement along, and 3 shift in,
curve. Explain what might cay

‘ a production Possibility
e S€ 2ach 1o occur. Use diagrams to SUPPOTt your answer. [8]
[Similar Question tg (R7A] 2012, v2, Q2, b))

(O/N 2015, v3), @2 AN '

(b) Discuss whether an outward shift ;

N an economy’s production po
likely

10 occur in a free

ssibility curve js more

market €conomy or 3 centrally planneg fconomy. [12]

(O/N 2016, V3), Q3
(a) Explain with the help of a diagram why productio
with increasing OPportunity costs, and show how the

(b) Discuss whether jt is likely that economies that h
of

technological innovation will come nearer to solving the cconemic probleny, [

N possibility curves are usy
¥ can be used to lustrate 5
AVe an increase ip labour

ally drawn
careity, [8)
and a high rate

12)
(O/N 2017, v3), Q3 o
(a) Explain how a production possibility
the consequences of a government’s cho
Support your answer. [§]

curve with increasing opportunity co

sts illustrates
ice to produce more military goods.

Use a diagram to

) —_— ]
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2,b into a market economy.
g)))nl\;iig\llzs, tvh?;tge with which a planned cconomy may be changed into

12] ‘
iti se 2 rationi :chanism of
ll)cll‘il:ll:ll:,:ds Economies: All the resources are allocated by the government. Tht:)"l;‘ls'; d[?r(‘:lzlll[(;'r]::ls]%r::l'uub(:::lzm n
central planning and quotas. The aim in planned economy is collective social welfare.
l.Basic economic questions answered by the government. e '
2. Wage differentials are minimal duc to the aim of quality and climinating social gap. o\ et
3. There is minimal engagement in intermational trade as the government prefers to be self-sufficient.

2. Market Economies: Wh

ere ownership of resources in the hand of private individuals who allocate them as
they see fit and governmen

tintervention is minimized. The forces of demand supply (price mcchams.m) are
used to allocate resources and the private sector decision the answer to the three fundamental cconomllt, :
questions. No government interference . There is competition in the market which leads to grealer choice for the
consumers,

How can it change [First Side| — The task of reforming require the govt. to establish reforms in THREE
ways:

1. Price and Trade Liberalization: In planned govt. controls everything,

Supply start to function which will create efficiency. Along with this competition nee

liberalize trade. State monopolies, tariffs, quotas and non-tariff barriers need to be removed and (he currency to
trade in the foreign market.

2. Privatization: Firms should be given a profit motive along with incre

better production techniques, training for managers, better machines et
take time. :

3. Financial Sector: Establishment of central bank and créatihg commercial banking institutes and other
= tlnancial Sector:

financial markets. Attracting forcign direct investments. This also allows transfer of technology and
Management techniques, o

but when price is free demand and

asing quality. This can be done through
c. However the implementation might

Why is it difficult [Second Side]
L. It is a lengthy
2. It might cause massive inflation as in planned when shortag 5
unable to buy the products. However in free market now exc c
to the firm to acquire that product. This causes massive increase in prices.

3. Imports might increase duc to trade-liberalization and this might cause massive inqoy\_r o\tf_impprts shutting
down local firms and causing uhelﬁployment:on a large scale. This leads to reduction in 8OVt. taX revenue and
govt. needs to spend more on transport and housing causing budget deficits, PoEEma VN

EVAL: Transitioning is clearly not an easy-task-and can only benefit an economy in the long-run. Once the
economy can successfully cover its short-term drawbacks only thep can it enjoy the benefits. Furthermore it also

ds on the efficiency of the firms in the economy and hqu quickly can labor and these sectors be reformed_
d‘CPen y ible the economy the easier would be the transition. Lastly it should be noted that the economy
e ﬂbcXl 0;1 llgtcly transformed into a frce market. A mixed cconomic system should always be usced to
(S)ltll(l)l\j&]"zjlynlc;:c ji(s:adv[;mages when the planned economy transforms into a mixed.
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(b) Discuss the way in which resources are allocated in planned economies and free market

economies. Consider which type of economic system is likely to have the more beneficial
outcome. [12] -

Definitions

1. Planned Economies: All the resources are allocated by the government. They usz a rationing mechzanism of
central planning and quotas. The aim in planned economy is collective socizl welfare. Features include:
1.Basic economic questions answered by the government.

2. Wage differentials are minimal due to the aim of quality and eliminating social gap.
3. There is minimal engagement in international trade as the government prefers to be self-sufficient.

Advantages Disadvantages
1. Large potential for economies of scale: Operating | 1. Surpluses and Shortages: No price mechanism.
large state monopolies, low prices for consumers. 2. Lack of variety: Standard of living falls.
2. Competition wastage can be reduced. No ads, Bule

price wars elc.

3. Gap between rich and poor is minimized:
Everyone has access to basic necessities.

4. Government keep on externalities: Pollution,
demerit goods restricted. Merit goods produced.

they don’t take entrepreneurial risks and lack
innovation.

4. Govt. policy tools are misused: Politicians might
use monztary, fiscal and supply side policy to win
votes. not allocated resources.

2. Market Economies: Where ownership of resources in the hand of private individuals who allocate them as

they see fit and government intervention is minimized. The forces of demand supply (price mechanism) are
used to allocate resources and the private sector decision th
questions. Features include:

1. No government interference :

2. Resources are allocated on the basis of price. Higher the price more the supply, lower the price more the
demand. Resources are sold to individuals who have the willingness znd ability to pay.

3. Production of profitable products is maximized whereas production of unprofitable products is stopped.
4. There is competition in the market which leads to greater choice for the consumers.

e answer to the three fundamental economic

Advantages Disadvantages |
1. Consumer sovereignty: Consumers determine the 1. Inequality of income: The rich can increase their
goods and services produced, producers make what earning potential through saving/receiving a better
consumers want. Demand and supply. education, some vulnerable groups, e.g. the sick may
2. Variety of goods: More choice, people can decide | find it difficult to eamn an income.

who to work for, may be choice’of suppliers: * | 2. Private sector monopolics: These may charge high
3. Profit Incentive: Makes the firm efficient, due to: | prices, reduce quality and restrict choice.
competition, drive down costs, lower prices, profit,” 3. Extemalifies: Base decision on private costs and
this increase output and GDP. benefits, existence otj external costs and benefits can
4. Less bureaucratic hurdles: This improves the cause inefﬁment ChOlCCS.' _
ability of a business to response to changes in 4. Demerit Goods: Certain harmful products (demerit
consumer preferences. B goods) may be over-consumed and so over-produced.

EVAL: The weaknesses of each system often lead to the conclusion that the mixed economy is mqst beneficial.
It depends on the mix however. Economies that want to grow more ;_)ref.er to keep a higher pl"()p()rllor'l o'f fr;e-
market because less controls attracts investors and firms quickly wlpch is necessary for growth. However the

that wants more equality prefers to have a greater proportion of public sector_and keeps Lh:: key
FCOHOH'.I)’ ike health care, education under the govt. control. To conclude however a higher proportion of free
mduksé??sssltlilfbee:er becat’xse once growth is achieved govt. can keep regulating to clear its disadvantages which
mar

would be difficult to do if the economy was planned.
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